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Name: __________________________________



1
Selected values for the functions f and g are shown in the tables below.

	x
	f(x)
	
	x
	g(x)

	[image: image1.png]-3.12




	[image: image2.png]-4 .88




	
	[image: image3.png]-2.01




	[image: image4.png]-1.01





	0
	[image: image5.png]



	
	0
	0.58

	1.23
	[image: image6.png]



	
	8.52
	2.53

	8.52
	2.53
	
	13.11
	3.01

	9.01
	3.01
	
	16.52
	3.29


A solution to the equation [image: image7.png]Az = g(x)



 is

	1)
	0
	3)
	3.01

	2)
	2.53
	4)
	8.52



2
The path of a rocket is represented by the equation [image: image8.png]


.  The path of a missile designed to intersect the path of the rocket is represented by the equation [image: image9.png]


.  The value of x at the point of intersection is 3.  What is the corresponding value of y?

	1)
	[image: image10.png]



	3)
	[image: image11.png]




	2)
	2
	4)
	4



3
Which value, to the nearest tenth, is not a solution of [image: image12.png]


 if [image: image13.png]p(x) =2 +3x° - 3x—



 and [image: image14.png]g(x)=3x+38



?

	1)
	[image: image15.png]-3.9




	3)
	2.1

	2)
	[image: image16.png]-1.1




	4)
	4.7



4
If [image: image17.png]


 and [image: image18.png]o(x) = 0.03x" —x+ 1



, an approximate solution for the equation [image: image19.png]Az = g(x)



 is

	1)
	1.96
	3)
	[image: image20.png](—0.99,1.96)





	2)
	11.29
	4)
	[image: image21.png](11.29,32.87)







5
If [image: image22.png]Ax) = (2 + 3x+ D(x* - 4x+3)



 and [image: image23.png]


, then how many real solutions are there to the equation [image: image24.png]Az = g(x)



?

	1)
	1
	3)
	6

	2)
	2
	4)
	4



6
A landscape architect's designs for a town park call for two parabolic-shaped walkways.  When the park is mapped on a Cartesian coordinate plane, the pathways intersect at two points.  If the equations of the curves of the walkways are [image: image25.png]11x% + 23x+ 210




 and [image: image26.png]—19x% = 7x+ 390




, determine the coordinates of the two points of intersection.  [Only an algebraic solution can receive full credit.]

7
Given: [image: image27.png]16
LICRELP
PSP
hD)= 55455 -5

k(%) = —(0.72) + 5




State the solutions to the equation [image: image28.png]


, rounded to the nearest hundredth.

8
On the set of axes below, graph [image: image29.png]


 and [image: image30.png]


 for the given functions.

[image: image31.png]



[image: image32.png]





State the number of solutions to the equation [image: image33.png]Az = g(x)



.


1
ANS:
4
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4

[image: image34.png]


.  [image: image35.png]
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060205b

3
ANS:
4

[image: image36.png]
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061622aii

4
ANS:
2
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2

[image: image38.png]] chatchpad

pec [Il] X
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REF:
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6
ANS:


[image: image39.png](2,300, (=3, 240)



.  [image: image40.png]1127 +23x+ 210 = -192° - 7x +390
302 +30x-180= 0
rx-6=0
(x+3)(x-2)=0

x

“3x=2



 [image: image41.png]y=11(-3 +23(-3)+ 210




. [image: image42.png]y=11(2)* +23(2) + 210 = 300



. [image: image43.png]Intersection
Ha
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7
ANS:


[image: image44.png]



REF:
fall1510aii

8
ANS:


[image: image45.png]
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